

CH 4

$$[1] (a) \begin{vmatrix} 3 & -1 \\ 2 & 4 \end{vmatrix} = (3)(4) - (-1)(2) = 12 + 2 = \boxed{14}$$

$$(b) \begin{vmatrix} 1 & 2 \\ 3 & 5 \end{vmatrix} = 5 - 6 = \boxed{-1}$$

$$(c) \begin{vmatrix} \ln 2 & \ln 3 \\ 3 & 2 \end{vmatrix} = 2 \ln 2 - 3 \ln 3 = \boxed{\ln \frac{4}{27}}$$

$$(d) \begin{vmatrix} \cos t & -\sin t \\ \sin t & \cos t \end{vmatrix} = \cos^2 t + \sin^2 t = \boxed{1}$$

$$(e) \begin{vmatrix} \sec x & -1 \\ -1 & \sec x \end{vmatrix} = \sec^2 x - 1 = \boxed{\tan^2 x}$$

$$(f) \begin{vmatrix} -5 & -1 \\ 2 & 3 \end{vmatrix} = -15 + 2 = \boxed{-13}$$

$$[2] (a) \begin{vmatrix} 3 & 0 & 0 \\ 4 & 5 & 0 \\ -1 & 2 & 6 \end{vmatrix} = 3A_{11} = 3 \begin{vmatrix} 5 & 0 \\ 2 & 6 \end{vmatrix} = 3(30 - 0) = \boxed{90}$$

(b) $\boxed{0}$ (row operations easily produce a zero row)

$$(c) \begin{vmatrix} 1 & 2 & -1 \\ 3 & 1 & 2 \\ 1 & 0 & 2 \end{vmatrix} = 1A_{31} + 2A_{33} = \begin{vmatrix} 2 & -1 \\ 1 & 2 \end{vmatrix} + 2 \begin{vmatrix} 1 & 2 \\ 3 & 1 \end{vmatrix}$$
$$= (4+1) + 2(1-6) = 5 - 10 = \boxed{-5}$$

$$(d) \begin{vmatrix} 2 & -1 & 3 \\ 1 & 1 & 6 \\ 0 & 2 & -2 \end{vmatrix} = 2A_{11} + A_{21} = 2 \begin{vmatrix} 1 & 6 \\ 2 & -2 \end{vmatrix} - \begin{vmatrix} -1 & 3 \\ 2 & -2 \end{vmatrix}$$
$$= 2(-2-12) - (2-6) = \boxed{-24}$$

$$(e) \begin{vmatrix} 1 & 0 & 1 & 1 \\ 0 & 0 & 1 & -1 \\ 0 & 1 & 0 & -1 \\ -1 & -1 & 0 & 0 \end{vmatrix} = A_{13} + A_{23} = \begin{vmatrix} 0 & 0 & -1 \\ 0 & 1 & -1 \\ -1 & -1 & 0 \end{vmatrix} - \begin{vmatrix} 1 & 0 & 1 \\ 0 & 1 & -1 \\ -1 & -1 & 0 \end{vmatrix}$$

B C

$$= -B_{13} - (C_{11} + C_{13}) = - \begin{vmatrix} 0 & 1 \\ -1 & -1 \end{vmatrix} - \left(\begin{vmatrix} 1 & -1 \\ -1 & 0 \end{vmatrix} + \begin{vmatrix} 0 & 1 \\ -1 & -1 \end{vmatrix} \right)$$

$$= -1 - (-1 + 1) = \boxed{-1}$$

$$(f) \begin{vmatrix} -1 & 2 & 0 & 0 \\ 1 & -1 & 1 & -1 \\ 1 & 2 & 0 & 1 \\ 0 & 3 & 1 & 2 \end{vmatrix} \stackrel{\sim}{=} \begin{vmatrix} -1 & 2 & 0 & 0 \\ 0 & 1 & 1 & -1 \\ 0 & 4 & 0 & 1 \\ 0 & 3 & 1 & 2 \end{vmatrix}$$

$$\stackrel{\sim}{=} \begin{vmatrix} -1 & 2 & 0 & 0 \\ 0 & 1 & 1 & -1 \\ 0 & 0 & -4 & 5 \\ 0 & 0 & -2 & 5 \end{vmatrix} \stackrel{\sim}{=} \begin{vmatrix} -1 & 2 & 0 & 0 \\ 0 & 1 & 1 & -1 \\ 0 & 0 & -4 & 5 \\ 0 & 0 & 0 & \frac{5}{2} \end{vmatrix} = \boxed{10}$$

$$\boxed{3} \quad (a) \quad \begin{vmatrix} t & -2 \\ 3 & 12 \end{vmatrix} = 12t + 6 = 0 \Rightarrow \boxed{t = -\frac{1}{2}}$$

$$(b) \quad \begin{vmatrix} 1-t & 0 \\ 3 & -3-t \end{vmatrix} = (1-t)(-3-t) = 0 \Rightarrow \boxed{t = -3, 1}$$

$$(c) \quad \begin{vmatrix} 1-t & 1 & 1 \\ 1 & 2-t & 0 \\ 1 & 0 & 2-t \end{vmatrix} = A_{13} + (2-t)A_{33}$$

$$-(2-t) + (2-t)[(1-t)(2-t) - 1] = 0$$

$$-(2-t) + (2-t)(t^2 - 3t + 1) = 0$$

$$(2-t) \left[-1 + (t^2 - 3t + 1) \right] = 0$$

$$(2-t)(t-3)t = 0 \Rightarrow t = 0, 2, 3$$

$$(d) \begin{vmatrix} t & 0 & 2 \\ 0 & t-1 & 0 \\ 2 & 0 & t \end{vmatrix} = (t-1) A_{22} = (t-1) \begin{vmatrix} t & 2 \\ 2 & t \end{vmatrix}$$

$$= (t-1)(t^2 - 4) = (t-1)(t-2)(t+2) = 0$$

$$\Rightarrow t = -2, 1, 2$$

5

$$\text{AREA} = \frac{1}{2} \begin{vmatrix} 1 & -1 & 1 \\ 3 & 6 & 1 \\ 2 & 2 & 1 \end{vmatrix} = \frac{1}{2} \left| A_{13} + A_{23} + A_{33} \right|$$

$$= \frac{1}{2} \left| \begin{vmatrix} 3 & 6 \\ 2 & 2 \end{vmatrix} - \begin{vmatrix} 1 & -1 \\ 2 & 2 \end{vmatrix} + \begin{vmatrix} 1 & -1 \\ 3 & 6 \end{vmatrix} \right|$$

$$= \frac{1}{2} \left| -6 - 4 + 9 \right| = \frac{1}{2}$$

$$\boxed{6} \quad \text{Volume} = \langle 1, 0, 2 \rangle \cdot \langle 0, 1, 1 \rangle \times \langle -1, 1, 0 \rangle$$

$$= \langle 1, 0, 2 \rangle \cdot \begin{vmatrix} \hat{i} & \hat{j} & \hat{k} \\ 0 & 1 & 1 \\ -1 & 1 & 0 \end{vmatrix}$$

$$= \langle 1, 0, 2 \rangle \cdot \langle -1, 1, 1 \rangle = -1 + 2 = \boxed{1}$$

$$\boxed{7} \quad \begin{vmatrix} a & b \\ c & d \end{vmatrix} = ad - bc \quad \cdot \quad \begin{vmatrix} -a & -b \\ -c & -d \end{vmatrix} = ad - bc.$$

IN GOING FROM A TO $-A$, EVERY ROW IS MULTIPLIED BY -1 , CAUSING THE DETERMINANT TO ALSO GET MULTIPLIED BY -1 (SWITCHING SIGNS).

2 rows \rightarrow DEL SWITCHES SIGN TWICE (NO CHANGE.)

3 rows \rightarrow DEL SWITCHES SIGN THrice (NEGATIVE.)

$$\boxed{8} \quad (c) \quad x = \frac{\begin{vmatrix} 5 & 2 \\ 1 & -1 \end{vmatrix}}{\begin{vmatrix} 1 & 2 \\ 3 & -1 \end{vmatrix}} = \frac{-7}{-7} = 1$$

$$y = \frac{\begin{vmatrix} 1 & 5 \\ 3 & 1 \end{vmatrix}}{\begin{vmatrix} 1 & 2 \\ 3 & -1 \end{vmatrix}} = \frac{-14}{-7} = 2$$

$$\boxed{\begin{matrix} x = 1 \\ y = 2 \end{matrix}}$$

$$(b) \quad x = \frac{\begin{vmatrix} 2 & 3 \\ -1 & -9 \end{vmatrix}}{\begin{vmatrix} 2 & 3 \\ 4 & -9 \end{vmatrix}} = \frac{-15}{-30} = \frac{1}{2}$$

$$y = \frac{\begin{vmatrix} 2 & 2 \\ 4 & -1 \end{vmatrix}}{\begin{vmatrix} 2 & 3 \\ 4 & -9 \end{vmatrix}} = \frac{-10}{-30} = \frac{1}{3}$$

$$\boxed{\begin{matrix} x = \frac{1}{2} \\ y = \frac{1}{3} \end{matrix}}$$

$$(c) \quad x = \frac{\begin{vmatrix} 0 & -3 \\ 3 & -9 \end{vmatrix}}{\begin{vmatrix} 1 & -3 \\ 2 & -9 \end{vmatrix}} = \frac{9}{-3} = -3$$

$$y = \frac{\begin{vmatrix} 1 & 0 \\ 2 & 3 \end{vmatrix}}{\begin{vmatrix} 1 & -3 \\ 2 & -9 \end{vmatrix}} = \frac{3}{-3} = -1$$

$$x = -3$$

$$y = -1$$

$$(d) \quad x = \frac{\begin{vmatrix} -1 & 1 \\ 1 & -1 \end{vmatrix}}{\begin{vmatrix} 1 & 1 \\ 1 & -1 \end{vmatrix}} = \frac{0}{-2} = 0$$

$$y = \frac{\begin{vmatrix} 1 & -1 \\ 1 & 1 \end{vmatrix}}{\begin{vmatrix} 1 & 1 \\ 1 & -1 \end{vmatrix}} = \frac{2}{-2} = -1$$

$$\boxed{\begin{matrix} x = 0 \\ y = -1 \end{matrix}}$$

$$\boxed{9} \quad (a) \quad \begin{vmatrix} -1 & 0 & 0 & 1 \\ 0 & 1 & -1 & 0 \\ 1 & -1 & -2 & 0 \\ 0 & 0 & 1 & 1 \end{vmatrix} = A_{43} + A_{44}$$

$$= - \begin{vmatrix} -1 & 0 & 1 \\ 0 & 1 & 0 \\ 1 & -1 & 0 \end{vmatrix} + \begin{vmatrix} -1 & 0 & 0 \\ 0 & 1 & -1 \\ 1 & -1 & -2 \end{vmatrix}$$

B
 C

$$= -(B_{13}) + (-C_{11}) = - \begin{vmatrix} 1 & 0 \\ 1 & -1 \end{vmatrix} - \begin{vmatrix} 1 & -1 \\ -1 & -2 \end{vmatrix}$$

$$= -(-1) - (-3) = \boxed{4}$$

$$(b) \text{ AGAIN } \begin{vmatrix} -1 & 0 & 0 & 1 \\ 0 & 1 & -1 & 0 \\ 1 & -1 & -2 & 0 \\ 0 & 0 & 1 & 1 \end{vmatrix} \stackrel{\sim}{=} \begin{vmatrix} -1 & 0 & 0 & 1 \\ 0 & 1 & -1 & 0 \\ 0 & -1 & -2 & 1 \\ 0 & 0 & 1 & 1 \end{vmatrix}$$

$$\stackrel{\sim}{=} \begin{vmatrix} -1 & 0 & 0 & 1 \\ 0 & 1 & -1 & 0 \\ 0 & 0 & -3 & 1 \\ 0 & 0 & 1 & 1 \end{vmatrix} \stackrel{\sim}{=} \begin{vmatrix} -1 & 0 & 0 & 1 \\ 0 & 1 & -1 & 0 \\ 0 & 0 & -3 & 1 \\ 0 & 0 & 0 & \frac{3}{2} \end{vmatrix} = \boxed{4} \quad \checkmark$$

$$(c) \begin{vmatrix} -1 & 0 & 0 & 1 \\ 0 & 1 & -1 & 0 \\ 1 & -1 & -2 & 0 \\ 0 & 0 & 1 & 1 \end{vmatrix} = \begin{vmatrix} -1 & 0 & 0 & 1 \\ 0 & 1 & -1 & 0 \\ 1 & -1 & -2 & 0 \\ 1 & 0 & 1 & 0 \end{vmatrix}$$

$$= -(1) \begin{vmatrix} 0 & 1 & -1 \\ 1 & -1 & -2 \\ 1 & 0 & 1 \end{vmatrix} = -(1) \begin{vmatrix} 0 & 0 & -1 \\ 1 & -3 & -2 \\ 1 & 1 & 1 \end{vmatrix}$$

\uparrow ADD THIS COLUMN
 To THIS COLUMN

$$= -(1)(-1) \begin{vmatrix} 1 & -3 \\ 1 & 1 \end{vmatrix} = -(1)(-1)(4) = 4$$

$$(d) \begin{vmatrix} -1 & 0 & 0 & 1 \\ 0 & 1 & -1 & 0 \\ 1 & -1 & -2 & 0 \\ 0 & 0 & 1 & 1 \end{vmatrix} = \begin{vmatrix} 0 & 0 & 0 & 1 \\ 0 & 1 & -1 & 0 \\ 1 & -1 & -2 & 0 \\ 1 & 0 & 1 & 1 \end{vmatrix} = A_{14} = \begin{vmatrix} 0 & 1 & -1 \\ 1 & -1 & -2 \\ 1 & 0 & 1 \end{vmatrix}$$

\uparrow ADD THIS COLUMN
 To THIS COLUMN

B

$$= - (B_{31} + B_{33}) = - \begin{vmatrix} 1 & -1 \\ -1 & -2 \end{vmatrix} - \begin{vmatrix} 0 & 1 \\ 1 & -1 \end{vmatrix}$$

$$= -(-3) - (-1) = \boxed{4} \quad \checkmark$$